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eneral Instructions to Candidates : \
e There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.
e Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
e Read questions carefully before answering.
e Read the instructions carefully.
e Calculations, figures and graphs should be shown in the answer sheet itself.
e Malayalam version of the questions is also provided.
e (Give equations wherever necessary.

e Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer all questions from 1 to 10. Each carries 1 score. (10x1=10)

1. A voltage regulator IC has number of pins.

2. The basic electronic component in a clipper circuit is

3. The passband of a low pass filter starts at frequency.

4.  The maximum value of modulation index in AM is

5. Name a digital modulation scheme which uses two different frequencies.

6. The type of optical fibre in which the refractive index of the core is varying

continuously is

7. The number of horizontal lines in one frame of Indian TV system is

8.  The type of memory which needs refreshing to maintain data is

9.  Which device is used to transmit data from a computer over a telephone line ?

10. The number of satellites used in GPS is

Answer any 6 questions from 11 to 18. Each carries 2 scores. 6x2=12)

11. Draw the circuit of a positive clamper and show the output waveform.

12. A carrier of 100 W is AM modulated and the power of the AM signal is 120 Watts.

Find the power of one side band.
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13.  What property of ionosphere is used in radio communication ?

14. Give the reason for fading of signal in space wave propagation.

15. Write one advantage and disadvantage of taking large number of samples of a signal.

16. Draw an FSK signal. How many different frequencies are used in this system ?

17. Write the difference between a compiler and interpreter.

18. What are the three types of cells depending on its size in mobile communication ?

Answer any 6 questions from 19 to 26. Each carries 3 scores. (6x3=18)

19. Draw the circuit diagram of a 4 : 1 multiplexer.

20. Write any three advantages of optical fibre communication.

21. What is total internal reflection ? How is it achieved in optical fibre ?

22. Describe the characteristics of a graded index fibre. Mention its advantage.

23. Describe the method of interlaced scanning.

24. Calculate the time period of horizontal sweep waveform used in TV.

25.  Write short note on machine language, assembly language and high level language.

26. Mobile communication uses cell system. What do you mean by frequency reuse here ?
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Answer any 5 questions from 27 to 32. Each carries 4 scores. (5 x4=20)

Draw the circuit of a zener voltage regulator. Explain how it gives constant output

voltage when input voltage is varying.

(a) Draw the circuit of a comparator. 2)

(b) In a comparator, a sine wave of peak voltage 10 V is given to the positive input

and a DC voltage of 5 V is given to the negative input. Draw the output

waveform. )
(a) Draw the circuit of a one-bit comparator. 2)
(b) Explain how it works. 2)

Explain the steps of determining modulation index of an AM signal with the help of a
CRO.

Write short notes on any four advantages of networking of computers.

(a) What is the requirement of a multiple access scheme in mobile communication ? (1)

(b) Briefly explain the three widely used multiple access schemes. 3)
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